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Lesson 8

Solve Two-Step 
Word Problems

Practice

Algebra Find each unknown.

 1. 48 ÷ 6 + m = 11 2. 37 - 9 = h × 4

  m =  h = 

 3. 20 + 20 = 4 × w 4. (4 + 2) × r = 54

  w =  r = 

Homework Helper 

Talia picked 8 quarts of strawberries. She picked half as many 
quarts of blueberries, then bought 1 more quart of blueberries. 
How many quarts of blueberries does Talia have?

Write an equation with a letter for the unknown. Then solve.

8 ÷ 2 + 1  = q

 4  + 1 = 5

strawberries
picked

blueberries
picked

blueberries
bought

unknown

So, 8 ÷ 2 + 1 = 5. The unknown is 5. Talia has 5 quarts of blueberries.

Check Use mental math to check your answer for reasonableness.

Subtract the one quart Talia bought from the total.
5 - 1 = 4 and 4 is half of 8.

The numbers make sense for the problem. The answer is reasonable.

Need help?  connectED.mcgraw-hill.com
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